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Each blue rectangle is a Sum of 8

Total is 228 Sums of 8
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Each red rectangle is a Sum of 32

Total is 48
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Each red rectangle is a Sum of 32

Total is 53



Sums of 32 Layout #3
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Each red rectangle is a Sum of 32

Total is 44



Sums of 32 Layout #4

7,18 19

6

2 r3.r4d 15

rl

34

33

32

30

29

28

9] 2] [Te) [e] [Te) 7S] [e] 0 [T} 0
- b — —
= | _F = k@.ﬂ_ u@h m@n <
< <3 <5
) — 3 5 3 5, 3 - 3 o
= — = = = =) bul o
ISR RN BN N R R e s e
-
0@ S m@l k@.ﬂ_. o S S o % S
~N ~N N ~ ~N (] N ~ ~N
~ — — - N = — - N b=l o
o) = 1S = Y4 = — < =) pul [ ko)
= = = = = = = =
= ~ o ~ - b o h s g g = = = — —
G.@D. o c £ = -~ = .I@h g@ﬂ. e@ © 3] Ko
o =) =] o
3 S S = = e 3 = S S = S S = = =
fox o o c = = A% = — = = = ] o o o
[e2) o [2]
o @ o o )
G.@p onw@ < m@w 2 o, 2 2 S = 3 © o <
@ © Q ) © o) © © © © >} X
o 2 3 c [ < < @ = ® =) = [ S o <
~ ~ ~ ~ ~ ~ ~ ~ !
W.@.m. _W@ s m@_U W@.J ﬂ..m g@f e‘ 5 C@b
© © @ © 6@ © © ©
G k3 3 = IS o e © e e [S) L ) ° o o
-
(e} n 0 [Te) 0
[Te) n wn Te} [Te) [Te)
O..D. Oﬁuu < mhuuw ~ 0, 10 2 9 © o = ] et
@ g < < < = <
< <t <t < X = 3
=2 o o < £ = X il s 3, = 3 3 3 3
-
™ ™ [>2) ) V] ™ ™ ™ 32} 5] ™
a.@nw. Aw@ S m@l . = J = 9 = . . ~ -
] (3N o N [N [N} o~ o
o N N c e [»} X o N A > N ) o] ] a
Q. =] -
1 — — =] — =]
=3 =3 5] o 3] o

27

al a2 a3 a4 a5 a6 a7 a8 a9

Each red rectangle is a Sum of 32

Total is 50



Total Sums of 32 is 48 + 50 + 53 + 44 = 195
One Phillips 740 Module can do 4 Sums of 32, which results in 49 Modules (195/4 = 48.75).

They will fit in 5 NIM crates (49/12 = 4.08).



